
Τριγωνοµετρία

tan θ =
sin θ

cos θ

cot θ =
1

tan θ

sec θ =
1

cos θ

csc θ =
1

sin θ

cos(−θ) = cos θ
sin(−θ) = − sin θ
cos2 θ + sin2 θ = 1
sin(A + B) = sin A cos B + cos A sin B
cos(A + B) = cos A cos B − sin A sin B



Παράγωγοι

d

dx
(xn) = nxn−1

d

dx
(sin x) = cos x

d

dx
(cos x) = − sin x

d

dx
(tan x) = sec2 x

d

dx
(cot x) = − csc2 x

d

dx
(sec x) = sec x tan x

d

dx
(csc x) = − csc x cot x

d

dx
(ln x) =

1

x

d

dx
(loga x) =

1

ln a

1

x
, a > 0, a 6= 1

d

dx
(ex) = ex

d

dx
(ax) = ax ln a, a > 0, a 6= 1

d

dx
(sin−1 x) =

1√
1− x2

d

dx
(tan−1 x) =

1

1 + x2

d

dx
(sec−1 x) =

1

|x|
√

x2 − 1



Ολοκληρώµατα∫
xn dx =

xn+1

n + 1
+ C, n 6= −1

∫
x−1 dx = ln |x|+ C

∫
sin x dx = − cos x + C

∫
cos x dx = sin x + C

∫
sec2 x dx = tan x + C

∫
csc2 x dx = − cot x + C

∫
sec x tan x dx = sec x + C

∫
csc x cot x dx = − csc x + C

∫
tan x dx = ln | sec x|+ C

∫
cot x dx = − ln | csc x|+ C

∫
ex dx = ex + C

∫
ax dx =

ax

ln a
+ C, a > 0, a 6= 1

∫
1√

a2 − x2
dx = sin−1

(x

a

)
+ C

∫
1

x2 + a2
dx =

1

a
tan−1

(x

a

)
+ C

∫
1

x
√

x2 − a2
dx =

1

a
sec−1

∣∣∣x
a

∣∣∣ + C


